
N = 1765
1765 circles in a circle

radius =   0.022316031762
ratio  =  44.810834231035

density  = 0.878979307941
contacts = 3691
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21-APR-2014

N = 1766
1766 circles in a circle

radius =   0.022303981303
ratio  =  44.835044758187

density  = 0.878527749739
contacts = 4218

 E.SPECHT
21-APR-2014

N = 1767
1767 circles in a circle

radius =   0.022292476122
ratio  =  44.858184193334

density  = 0.878118586735
contacts = 3434
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21-APR-2014

N = 1768
1768 circles in a circle

radius =   0.022288294190
ratio  =  44.866600892857

density  = 0.878285926358
contacts = 3465

 E.SPECHT
22-APR-2014

N = 1769
1769 circles in a circle

radius =   0.022284163652
ratio  =  44.874917256741

density  = 0.878457006931
contacts = 3280
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22-APR-2014

N = 1770
1770 circles in a circle

radius =   0.022279430305
ratio  =  44.884451097260

density  = 0.878580236047
contacts = 3245

 E.SPECHT
23-APR-2014

N = 1771
1771 circles in a circle

radius =   0.022263532800
ratio  =  44.916501301191

density  = 0.877822525071
contacts = 3847

 E.SPECHT
19-APR-2014

N = 1772
1772 circles in a circle

radius =   0.022253989725
ratio  =  44.935762636494

density  = 0.877565383986
contacts = 3291

 E.SPECHT
20-APR-2014

N = 1773
1773 circles in a circle

radius =   0.022231640842
ratio  =  44.980935375699

density  = 0.876297900060
contacts = 3534
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20-APR-2014

N = 1774
1774 circles in a circle

radius =   0.022231320585
ratio  =  44.981583356368

density  = 0.876766884898
contacts = 3636
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20-APR-2014

N = 1775
1775 circles in a circle

radius =   0.022226436989
ratio  =  44.991466715331

density  = 0.876875739692
contacts = 4300

 E.SPECHT
21-APR-2014

N = 1776
1776 circles in a circle

radius =   0.022222305949
ratio  =  44.999830452971

density  = 0.877043645920
contacts = 4471
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